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Date of Examination : 10 February 2019, Sunday
Tdeneffardt geA / Guidelines for the Candidate

1. T99 Yftaehdict Te U9 SIS AT el Fasem Wt e s,
Please make sure that all questions are printed properly in Question booklet or
not.

2. U AT & TRET SHATERTE ek UTsieh! (e TeaT=! W hied ST,

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

3. ufet g& guangd fageneat crrean |yut el et svaredt 30 fafe iften ae quamm
BECH

You will get additional 30 minutes to check and make sure about the information about
yourself on the Answer Sheet before the start of the exam.

4. FQR IYGRETRALE TRUT 100 T ST Tedeh TYHTS! 2 T[0T 37T
This question booklet contains 100 questions each question carries 2 marks.
5. ©d U9 AISiul STavash 3TE. Yehiedl ScIaege MaTeedl TN $Haeare! SRR T[0T Tl het
SATUTR AR,
All questions are compulsory. There is no negative marking.
6. oNUTATE T UG fERT oot Wl A T
Check to make sure that you have received the appropriate test booklet for your standard.
7. UATAHER hales Tehd Stal SNIsR AT, SNieR ISt Uhd

There is only one correct answer. Choose only one option for an answer.

8. eIl UH WIIUITaTS! eheles shiedl / THest T Sictu-=r o,
To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black
Ball, Pen only.

Eg.

Q. x : - Fill in the blanks.

My father went..........ccevvecrrceneennes To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding To option a) in the Answer

Sheet as follows.
CORRECT METHOD WRONG METHOD

> @®OO®| [«x @GO W]
9. UReN HUCHTER gl ScUTIohT THALTERIEhE UXd Ul

Return the Answer Sheet to the invigilator at the end of the exam.

10. SATUET URET ShHTh TYTYREThar GEaT ToTgTal a Het TYgieceht URET ShicTaeiFaR e diad
11

Write your Roll No. on the Question Paper too and take it home for future reference.

Visit www.rtsexam.com for answer key after 8 days




T YUI TiiehiA AR ShUETETST I3 TR fGeiedn TataTdict ShivTd STk datad Seel o e,

Select a figure from the given options which fits exactly into question figure to form a
Complete square.

Y 3Rl / Question Figure

e’ SATheAT / Answer Figures :

N L N R

WA TYATAT T9 SATHATET SRV AT Seck U= Haret.

Choose the correct mirror image of the question figure from the given options.
Y 3Rl / Question Figure :

K

e ATHeAT / Answer Figures :

g0t I Eox A B e S

A) B) C) D)

Teht Hichideh WA TAP g1 9isg SZO 2 foifgama @ =t @ FREEZE g1 9ise & feifgama 2

A) EQDDYD B) GQFDYE C) EQDFYG D) GQFDYF
In a certain language TAP is coded as SZO, then FREEZE will be coded as:

A) EQDDYD B) GQFDYE C) EQDFYG D) GQFDYF
T 7 TEOT TRt ST ?

Choose the odd figure out.

N\ N \’/ NS
/l‘\ /‘\ b /|
A) B) C) D)

WCHTUh! SHIUTAT U WA STRHIToTeR! YUt et ?

A) 48 B) 64 C) 60 D) 50
Which of the given options will complete the series?

21, 42, 23, 46, 25,................ 27.

A) 48 B) 64 C) 60 D) 50
TeTd A SHUR US 35,

A) CDE B) JKL C) PQS D) TUV

( . )
{1 )



10.

11.

12.

Choose the odd one out.
A) CDE B) JKL C) PQS D) TUV

TyATergTea SR AT TRt Tt S,

Which figure will be there at the question mark place? Choose correct option from alternatives?
RERRo|RoR 2

279 RRR AR }R
vel R LR PR

A) B) C) D)
M T feeten uaiarg vne.

Find the missing number from the given alternatives?

8,14, 26,44,68,?

A) 84 B) 98 C)71 D) 78

IR 3 fdeR 1999 &1 {Ear 3@a @ 3 IR 2000 1 SHUTAT IR 378 ?

A) TeaR B) FUAR C) T&AR D) JRaR
If 3" December 1999 is Sunday then what day is 3™ January 2000?
A) Sunday B) Wednesday C) Thursday D) Friday

WA T9ATd TgATIgrean SRt AUTHT HE&an g=iargd e,

In the following question which number will replace the question mark?
1115 (13
29| ? |23
3(17]| 7
A) 18 B) 19 C) 21 D) 20

fora, wiet, fareh, areaTdiel TER Hee Jr TR SITuTRT S STehdren uai fHaet ?

Select the perfect Venn diagram option which indicates the best relation amongst wall,
Room, window.

A) . B) . C) O D)

ettt s R Rt e ?

How many triangles are there in the following figure?

A) 13 B) 14 C) 15 D) 22




13.

14.

15.

16.

17.

TETA 7 STEUTRT ITeg 3N ?

A) fererbm B) UITE ORIE
Choose the word which is different from others.

A) Sikkim B) Punjab C) Goa
W SAERATCTRT YUt el

AZ, GT, MN, ?, YB

A) SH B) TS C) RX

Complete the letter series given below.
AZ, GT, MN, ?,YB
A) SH B) TS C) RX

D) ierfegy

D) Lakshadweep

D) KF

D) KF

WA TEATA T ST Teht TATITSE SHATH ST 9 STTheaTdict Reprea STt
JUTHY SATHell Scek SATReATHELT IIEM.

In the question below the problem figures are in a series. Find out one figure
Among the answer figures which occupies the blank space in the question figure.

Y 3Rl / Question Figure:
=\ JU

Ieal’ SATheAT / Answer Figures:

— il —

A) B) C)
TOATIET=AT STt ShIUTAT TS T2 AT o SLal.
Which group of numbers will come in the next row?
6 | 24 |624
7 128|728
8 | 32832
21?77
A)9, 36,972 B) 9, 81,981 C) 9, 36,936

D)

D) 9,63, 963

TIEIE T3 ST UTUETd e Ufdfes sl [G8et o ek STThed e Ined.

Choose the correct water image of the question figure from the answer figures.

g 3Rl / Question Figure:

e AThHeAT / Answer Figures:




18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

CEcS/ I o o= N

A) B) C) D)

T qea (e IEge qraTetl Thidt aTSeHTse |iRTae!. et Thid ThlTet ?

A) IO S ool AT, B) fermter S wuren.

C) UsheAe T TS ST e, D) Yeheiealt TEEIehs Geiel Tiret.
Some one tells you some worse things about your friend. What will you do?
A) Beat the person that tells you. B) Blame your friend.

C) Confirm the things you heard. D) Ignore whatever you heard.
0>0,>0<,0>0,>??

A)> 0 B) 0 < )00 D) > <
TETd 7 FHUR Ug STIeE ?

A) geelt B) &=t C) &t D) WR
Find the term that does not belongs to this group.

A) Elephant B) Tiger C) Deer D) Crocodile
T T -

A) TEUITR AT B) HUTE C) S D) Ae5eR
e’ = visgren fereaeneft visg wivmar ?

A) ScETEl B) 3g<H1 C) sTAfes® D) Ut
WIeTTeh! J[EY I158 ST ?

A) TSiaig B) sMfiae C) gatea D) fafrss
WA QT ShaTH! I16g ST

A) AT B) farht C) qieht D) At
I et et

A) ATeeh fefgom-orEe B) U&deh feAfguri—arereh

C) Z-TS TEUTRI— 3T D) ST TEUTRT —aATfearet
‘Higd vIea= SM............ R

A) AT B) @A™ C) feiwu D) feramug
‘TehIeT T QAT THTTT ITea ShIvTAT ?

A) faeft B) afehent c) fafeom D) faferm
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28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

Choose the correct form of the adjective.
Tall-Taller
A) The tall B) Tallness C) Less tall D) The tallest

Find synonym for the word ‘perhaps’.
A) Softly B) Probably C) Exactly D) Swiftly

Give antonym for the word ‘fall’.
A) Rise B) Dance C) Sing D) Line

Choose the correct option for the given sentence:
A Cluster of houses in a village is called..............
A) Hamlet B) Sector C) Colony D) All of these

Fill in the blank with the right preposition from the given options.
Prabha was married ............. kamlesh.
A) On B) To C) With D) At

Fill in the blank with correct form of verb given in the bracket.
2 [T there tomorrow at this time.(reach)
A) Will be reach B) Will have reached C) Will be reaching D) None of these

Find a word which rhymes with the word ‘ANOTHER’ from the options.
A) Tree B) Author C) Brother D) Bird

Choose the correct spelling of a familiar word.
A) Pickchur B) Pickture C) Pikchar D) Picture

75, 120, @ 180 I AETE & FIETE STsRA TRt S1T8 ?

Find the H.C.F. and L.C.M of 75, 120, and 180 respectively.
A) 24, 1600 B) 1800, 15 C) 20, 1700 D) 15, 1800

V11X12X13X14+1
A) 155 B) 115 C) 105 D) 315

7.5, 3.2, 11.3, 20.5 30T x T EEATN TOEA 10 3. T x =i fhra fordi ?

A) 7.5 B) 5.5 C) 4 D) 6.5
The average of 7.5, 3.2, 11.3, 20.5 and x is 10. Find the value of x.
A)7.5 B) 5.5 C) 4 D) 6.5

TehT QI 72 3T ATad X A9 72 USTia fohell 21ia 3/ ?

A box contains 72 mangoes. How many mangoes would be there in 72 such boxes?
A) 5814 B) 5284 C) 5184 D) 5484




40.  Ueht FIRIUT SwRes 150 . T ST1E. IR UTE SMfUT St AT TR 3:4 ST R
BrerivT=h 3= wEr.
A) 20 St B) 15 Wit C) 12 Tt D) 10 Twft
The area of a triangle is 150 sq.cm. If the ratio of base to height is 3:4. Find its height?
A) 20 cm B) 15 cm C)12cm D) 10 cm
41.  Tohva wmE.
675 x 320 — 564 x 143.
A) 78645 B) 135348 C) 34562 D) 135465
Find the value of
675 x320-564 x 143
A) 78645 B) 135348 C) 34562 D) 135465
42. 60,90, 80 fA: 9T WAT UM FEETE G2 UT=l 37eh! GEAT ShHIUTA ?
A) 10090 B) 10080 C) 10100 D) IR AT
Find the smallest number of five digits which is exactly divisible by 60, 90 and 80?
A) 10090 B) 10080 C) 10100 D) None of these
43. Uk ANRNE 2 faffem 3 fomift st g, @ 6 amEia o foret Rt 7a e 2
A) 1080t B) 18 femtit C) 240 ferit D) 540 et
A train takes 2 min. to cross a distance of 3 km, then how much will it cover the distance in 6hr.
A) 1080 km. B) 18 km. C) 240 km. D) 540 km.
44,  TETCHCTUEH! SHITTCIT TREAT TEe ShlA 31Tgd ?
11 1 1 11 11
A)0.25, =, — B)=, —,0.25, C) 0.25, -, - D)=, -, 0.25
3" 2 37 2 2" 3 2" 3
Which of the following numbers are in ascending order?
11 1 1 11 11
A)0.25, =, — B)=, —,0.25, C) 0.25, -, - D)=, -, 0.25
3" 2 37 2 2" 3 2" 3
45.  TETCTeTdeh! ShIUTAT YA ( AT ?
8-8
A)Ox0 B)2+0 C)% D) =
Which of the following is not zero?
8-8
A)Ox0 B)2+0 C)% D) =
46. T ATHAT MBS AT T
4 Hwdt
A) 2 Gt B) 5 Tt C) 6 Tt D) 4 \iEit

Find the missing length of the given figure.

——




A)2cm B) 5cm C)6cm D)4 cm

T AT AU 31.021 TR, IR TATAA Teh ST 11.56 7O T AL HEAT HIUTA ?

A) 19.561 B) 17.461 C) 19.461 D) 18.641

The Sum of two numbers is 31.021. If one of them is 11.56, then the other numberis ............ .
A) 19.561 B) 17.461 C) 19.461 D) 18.641

258 = cereiiiiieenanns aa.

A) 2400 99 B) 2450 9 C) 2500 9 D) 25000 &

Convert Rs 25 into Paise.

A) 2400 Paise B) 2450 Paise C) 2500 Paise D) 25000 paise

HYUT Shidt TRANH g (od Hoged AIaehie 5:50 Sraidt geetl, g iaeh aehrest 8:15
A1 feetien digeelt. T fReeien St et 9o emre.
Al2am2smfe B 12am3sfafe ) 14aam2s@fR D) 14 9w 35 fafe

Sampurna kranti Express departures from Mumbai at 5 : 50 pm and arrives Delhi at 8 :15

50.

51.

52.

53.

am. Of the next day. What is the total time of the journey?

A) 12 h 25 min B) 12 h 35 min C) 14 h 25 min
TMEEAT ST AUTH HEAT T IHe.

100, 50, 52, 26, 28,........., 16,8.

A) 14 B) 15 C) 30

Find the missing number from the alternatives.

100, 50, 52, 26, 28,.......... 16,8.

A) 14 B) 15 C) 30
WeATcTueh! fasTe JTgeh hivTdn ?

INSIE B) wAITEeeh C) sfegmt=am
Which one of the following is a conductor of electricity?
A) Wood B) Plastic C) Aluminum
@retietdeht fAfsta uarel sioran ?

A) s B) g5 C) AT
Which of the following thing is non-living?

A) Radio B) Earthworm C) Mushroom
e AU 98 Il 2 ?

A) TEEH B) heet C) TRYS

D) 14 h 35 min

D) 36

D) 36

D) ®WTg

D) Paper

D) Ik

D) Frog

D) u™=




54.

55.

56.

57.

58.

59.

60.

Respiration in aquatic animals occurs by -

A) Lungs B) Gills C) Nostrills D) Legs
TIETA A STEUTR Ug M.
A) 3TTaT B) AT C)as D) EeTum

Which of the following is odd one out.
A) Mango B) Palm C) Banyan D) Chick pea

1) 9w 2) AR 3) wAITECh 4) Siegfutem
A)1,2,3,4 B)2,1,4,3 C)1,2,4,3 D)2,1,3,4
Arrange the following substances in decending order according to their density?
1) Mercury 2) Iron 3) Plastic 4) Aluminum
A)1,2,3,4 B)2,1,4,3 01,2473 D)2,1,3,4
FTARAEA. ...l HTH UATETS! ST ?

1) <RI Ad 2) T S 3) a1fereR

A) S 1 B) 1 3ifur 2 C) 1, 2 31Ut 3 D) 2 iUt 3
Machines are used to get more work done in

1) Less time 2) Less effort 3) More

A)only 1 B)1 and 2 C)1,2and 3 D)2 and 3

A ATk 3 SHE ¢ ?

A) G B) U C) 3 D) 7@
Man : Nose ::Plant :
A) Flower B) Leaf C) Stem D) Root

WS AT WieteTaeh! ot uete fiesd argt 2

A) TR B) ekt C) WUt D) T

Which of the following substance is not obtained from mineral oil .

A) Tar B) Kerosene C) Wax D) Colour
ST Tl AT 1T Frsll ATl ST ?

A) ISUTAT At B) feordi=t ==t C) Tfast STt D) YTRIfeR Tl
Which energy is used when we run?

A) Heat energy B) Potential energy  C) Kinetic energy D) Physical energy
WciieTdeht shiutar uarel fsmon ang 2

A) Hie B) ATER C) urutt D) gy

Which one of the following substance is a mixture ?

A) Salt B) Sugar C) Water D) Milk




61.

62.

63.

64.

65.

66.

67.

68.

69.

WRATA I ShIUTedT TSAT ARl ARTSE hed! ST ?

A) 3TE™ B) UTg=mM T C) feemr D) SicTteh! T
Jute is cultivated in which state of India?

A) Assam B) West Bengal C) Bihar D) All of these
............ ATATEAT HEUTeSTH TeIshTe el AT,

A) T B) UT=R c) frfama D) Stfe

A Shepherd named............... discovered the magnet.

A) Magnes B) Pasteur C) Linnaeus D) Darwin
faeett snfur gag reawdiet ST JH=e: ............ TN UShehTd STk Shed STTd ?

A) SR B) firex C) Hdfiex D) fereriex
The distance between Delhi and Mumbai is usually expressed in the unit is

A) Decameter B) Meter C) Centimeter D) Kilometer
FAd ShiAY Sae g1 hIUTAT SIaet 3T ?

A) Jgfiten B) ™Ak C) Wifder D) STUfREa-a
Burning of coal in airis a ....cccceevveueeneen. Change.

A) Natural B) Chemical C) Physical D) Irreversible

WETeiieTdeh! ShITTAT ‘T Sia-EeaT=l 9id Tel ?

A) 3BT B) 2T C) e Wb D) ket
Which one of the following substances is not a source of vitamin C?

A) Amla B) Tomatoes C) Citrus fruits D) Banana
A AT Wested fhdt aui= 3iav 3/ ?

A) 2 T B) 4 & C) 5 a8 D) 6 I8
What is the time gap between two Olympic games?

A) 2 years B) 4 years C) 5 years D) 6 years
gl UL IGAH VTN T AR ?

A) ST B) feumerer wew C) A& TSI D) 3t U9t
Kanha National park is situated in -

A) Assam B) Himachal Pradesh C) Madhya Pradesh D) Uttar Pradesh
WRATA I Taid A3 I 20T HIUTeAT Teter TR ?

A) TATT B) TaTat C) et D) HgHat
Which river has the longest dam in India?

A) Ganga B) Godavari C) Sutlej D) Mahanadi
WeiieTdeh! ThivTd fagrama wifdes aem A 2

A) TEEUH B) & C) Aoft D) HTd=it Wigh




70.

71.

72.

73.

74.

75.

76.

77.

Which one of the following options is not a material source of history?

A) Travelogues B) Stupas C) Coins D) Pottery
Sfertt 2 f3ehmor shiorean Ioma o1 ?

A) A B) WU C) AUTS D) =4
Lumbini is situated in ............... country .

A) India B) Japan C) Nepal D) China

“UERILTE’ 3 WEehd A1eeh shivf foifdet 2

A) feoTrEE B) &FTHE C) T Hid D) g
Who wrote the Sanskrit play Mudrarakshasa?
A) Vishakhadatta B) Dhanananda C) Chandragupta Maurya D) Seleucus

WeileTieh! ShiuTd S&ehd HIceh gaadm forfget A ?

A) T B) HgmIeT™ C) RS D) forrefotem
Which one of the following play is not written by Harshavardhan ?
A) Ratnavali B) Mudrarakshasa C) Naganand D) Priyadarshika

FIEET g ot Tart shiuTreen et WAt e gt ?

A) 3T9TIR B) fegea C) a0 TG DRELE

Fa- Hien visited India durning the rign of -

A) Ashok B) Bindusara C) Chandra gupta |l D) Harsha vardhan
Ti=sT AT T IO et 2

A) B30 B) QT C) S D) g3

What was the capital of Pandya dynasty ?

A) Paithan B) Badumi C) Kanchipuram D) Madurai
“avifees g9’ g1 T st fefgen

A) THUTE B) UdSTel C) ShifcTer™ D) aTfeHeht
Who wrote famous book ‘vaisheshik’ Darshan’ ?

A) Kanad B) Patanjali C) Kalidasa D) Valmiki
ST ST 1T Il gataal ?

A) STt B) Fuer C) TaTEfiA grot D) TEd

A black flag Signifies -

A) Peace B) Protest C) Surrender D) Fight

ST Aaid g 291 ShIvTdl ?

A) iRt B) & WA C) e D) SgTeehut et
Which is the smallest country in the world ?

A) Monaco B) San Marino C) Bhutan D) Vatican city

10
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78.

79.

80.

81.

82.

83.

84.

85.

90T & Iiid AR TaTE SR TETEAT WA Uehal 31T @) 3781 029 ... AT Teicad A9,

A) WIS B) AT C) AHEEAT D) STt
The regions where warm and cold currents converge are favourable for the growth of .........
A) Planktons B) Fish C) Population D) Plants

WIATAUh SHIUTCAT WEHT SETIH @A ATerd ?

A) 5Tl TSeh B) TUTANT WSh C) A amfuT B D) A= Weh
In which of the following rocks we do not get fossils?

A) Sedimentary Rocks B) Metamorphic rock C) Both A and B D) Igneous rocks
WIETUeh! ShivTd TH T THIEH ATEL ?

A) THH B) Ut C) e D) &ut

Which one of the following is not a natural resources?

A) Land B) Water C) Wood D) Dam

WTATAUh! HIUTAT HIBT TS Tehed WRATA AT ?

A) TIETHE HIGR UTeh B) TRk WIGTR UTeh

C) ATEIA TASH Ttk D) ATU<h! Tehg! ATE

Which one of the following large scale solar energy project is not in India?

A) Golmud Solar park B) Charanka Solar park

C) Welspun Energy project D) None of these
AT ALY <hIOTet ?

A) Fad B) &1 C) 3eTe D) SrEEeH
What is the capital of Israel?

A) Kuwait B) Haifa C) Eilat D) Jerusalem
SATTereh yataRuT fa shiurar ?

A) 8 |l B) 5 S C) 24 AT D) 10 fe8=R
Word’s Environment Day is celebrated on-

A) 8 march B) 5 June C) 24 October D) 10 December
WIEATCTUh! AT FOGHINE! ATeh ShIUT TR ?

A) AR B) WS C) = D) T
Which of the following has most sensitive nose ?

A) Cat B) Man C) Dog D) Cow
= <o sRivTen WesTeht Hefea R ?

A) &TTeToT B) el Uieh C) 3 AR D) faarsht
Neeraj chopra is associated with -

A) Running B) Javelin throw C) Juming D) Archery

11
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86.  WcicTUeh! ShIvTd Wyt fafean ardt 2
Which one of the following is not social media?
A) n B) @ o) .
87. W whIuT SfiesE:
i AT 3, 95, 9 @ od.
A) T B) hidgt C) Yorren feret D) Het
Whoam | ?
| give food, clothing and manure to the man.
A) Cow B) Hen C) Silkworm D) Sheep
88.  WIeiicTueh ShiuTea fasamen Tdid Ht Siwt AT ?
A)LCD B) LED C) CFL D) Tube light
Which of the following lamps use minimum energy ?
A) LCD B) LED C) CFL D) Tube light
89. Teceie gramsh ot e ?
A) g WS B) wIw fornciian C) 3Rfdg FeliaTel D) YUHT TR
Who is the chief minister of Delhi?
A) Narendra Modi B) Manish sisodia C) Arvind Kejriwal D) Sushma Swaraj
90.  SATRferaT<h U=IE hUT S ?
A) e B) HeTalH C) ferst D) foream
What is the capital of Australia?
A) Canberra B) Melbourne C) Sydney D) Brisbane
91.  WERTT™ I HaAl ThIUT 3T ?
A) 3dg wEauia B) farsuy wmert
C) <igehid UTe D) iR RIEIaR
Who is the forest minister of Maharashtra?
A) Devendra Fadnavis B) Vishnu Savara
C) Chandrakant patil D) Sudhir mungantiwar
92. ‘TeTancgll AT ST AT YEAhIG TIEeh ShiUT STTed ?
A) OH=e B) GHTITg T C) ETFATA Ag& D) Wira fam
Who is the author of the book ‘Discovery of India’?
A) Prem chand B) Subhash Chandra Bose
C) Jawahar Lal Nehru D) Bhagat Singh

12
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93. T HEA HIUTAT I AR ?

A) et faeett B) WEW C) FoTaTe D) STRI

Hawa Mahal is situated at ........... city.

A) New Delhi B) Jaipur C) Hyderabad D) Agra
94. ‘Zoheltd fSiaTang = AW i faem?

A) Tk, TTieR B) TGN TecTHHTS UeeA

C) TATEAT TS D) TER WTAte

The slogan ‘Inqulab Jindabad’ Was given by -

A) M.K. Gandhi B) Sardar Vallabh Bhai Patel

C) Lala Lajpat Rai D) Sardar BhagatSsingh
95.  FGTETE g ITEN ShIUTeAT A=Al dRTER 311 ?

A) AT B) HuM C) Tiererdt D) FHaT

Hyderabad city is Situated on the bank of ............. river .

A) Yamuna B) Musi C) Godavari D) Narmada
96. RIS TEld S .............. T 9161 WRAT 3.

A) | HIE] C) hisdT D) 3%

India has largest deposits of...................... In the world.

A) Gold B) Copper C) Coal D) Mica

97.  WERISTA AIhATHT UKUT fehelt T 2072 ?

A) 36 B) 46 C) 48 D) 42
How many Loksabha seats are there in Maharashtra?
A) 36 B) 46 C) 48 D) 42

98.  WI-WI TA1 WA Uehl HHTd fehell TeHTE, ST ?

A) 11 B) 12 c)7 D) 13
How many players are there on each side in the game of Kho - Kho ?
A) 11 B) 12 C)7 D) 13

99. TR T HIVIAT FEUTATA ?

A) 32 B) ¥&@ C) gt NEEL
....... is known as the cow of poor people.
A)Camel B) Buffalo C) Pig D) Goat

100. 2022 Hret Aum=at G-20 URE<E ISTHH UE ShivTedT 9T Heate ?

A) 9 B) aferur smfER C) Wi D) =4
Where is G-20 2022 Summit proposed?
A) India B) South America C) France D) China
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